25 B

NWTNEFEPLBBRE - £50 %24 R Rl e i i
FE Hmae %ﬁﬁ@-*+‘ﬁ

CAMBHREMBE  BRAEBEANEEF LT (%%) BRIFFH4
CERFRABAENRL  RIFSR EREEA LT HZEM R ES @5‘]22%*1'
CAREAELS > RBERE T k-
CARBTEF LR F D AR
CABRMK 6 B o H B BB RE CHEREEHE -

o
FHIFI!" 1 1

EER(RESE L4058 55259 B 4% 45| 3a)

—

- AABCE > b=103 s ¢=10> /B=120° - RZ AN M=
(A) Vi1
(B) 543
(C) 25v3
(D) 2513

2. K 00527+cos4—7— + cos — b7 _

(A)-1/2
(B) -1/5
C) 12
(D) 1/5

1
3. 76‘x+_ ‘\/_ E'Jx ’+ 100"

(A) -1
(B) 2
(C)-3
(D) -4

4. %0<x<2 s f(x) 4 -3- 2‘+5Zﬁk{ﬁM FoMEm o REHM > m)=
@A (52,12)
(B)(3/2,172)
(©)(1/2,372)
D) (72,37)
5. % COS4(R'/8)+ cos4(37r/8)+ cos (57/8)+ cos* (77/8) x g =
(A) 1/5
(B) 3/5
(C) 2/5
(D) 3/2



6. &

ax+1<bz gt -2<x<5 » B#H(a,h) =
(A)(-7/2,7/2)
(B) (-7/3,9/5)
(C)(-2/3,7/3)
(D) (-3/2,5/2)

7. FIMTEIEEE BT
(A) 299
(B) 331
(©) 197
(D) 397

8. HLL Ix—l=y:1=Z—]b&$@4x—l3y—52+23=0_}_ s Ka+rhzds
a —

(A)7
(B) 8
€)9
(D) 10
9. B :x*+y? —6x-8y+21=08 AE L :x~y+3=0/8 XM 4B =8 » Bl AB % f=
(A) 242
(B) 243
© 245
(D) 342
10 F@4ARE > A1 2) » B(-4 > 6) » B| AB 2 E=
(A) 11
(B) V43
(€) 37 -
(D) Va1
11.3&00529:%;“0549+sin4ez,ﬁz%
(A) 17/25
(B)15/23
(C) 17/26
(D) 15/29
12.#xeR, ££=;§if(x)=[x+3|+]x—][+fx—5] , X=mE, F& - DE A, K H(m,n)=
(A)(1,8)
(B) (2.8)
(€ (3.8
(D) (4.8)
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378K x4 -3x" +x+1=0 £ F A B EHAIH TR 2
(A)-3g2-2
(B) 02124
(C)-28#1-12. 13
(D) -14202 &
14. R log,, (log, N = {4 A
(A) 1/5
(B) 2/5
(C) 1/4
(D) 6/7
15. % log, (W12 + 643 + 12— 643) 248 2
(A) 1
(B) 2
©)3
(D) 4
163 F A" +6x+1=08 @ik Aa,8 * Bl (Va+ /B ZHEER
(A) 4
(B) 6
(C) -6
(D) -8
17.3%a=\V1147,b=\5+13,c=v3+15 » F o g E Lk ?
(A) a<b<c
(B) b<a<e
(C) a<c<b
(D) c<b<a
18 8 -1432 2 RHEANMEH - EAF BT HIBEAZIRG S
(A} -10 :
(B)-12
(C)-18
(D)-14

11
19.;ﬁ2—1+5—z+---E%SIE\-@FF

(A) 85/69
(B) 83/69
(C) 83/64
(D) 85/64

20.% % B XfOB U — 1) R (x—~ 2V Z 8 X AR R A Sx+] > 6+ > BB G— (-2 R A
(A) 2% 4 dx+- 1 |
(B) 2x*+3

37



(C) 2x*+x+3
(D) 3x°-2x+2 _
20 HRAMENREFEETH > HAXSTRELAE  TUBRENRETRSIGEET - F
514 MERAER BB AL - THERE? '
(A AABRAHEENZLALE  SAGEERZY TS
B) REAFELZEFETUARNEREGARR L
O Z2HFLARKE A TEREFEETHHMEE
D) Z&FHEELE  ORBEETHRS
RAHREA20cmHE > e—H0 kgwin AR AN RREYSA16 o BIBEEG TN A
(A)1/2
(B) 3/2
©)1
(D)2
AEHMEPENDE é’JsJﬂ” BB AERNANERA K TOES L 2RAATFIH—HEFX?
(A) #Him
(B) %%
(C) &4
(D) #04t
24. 50T A B Bk e 4 AT 48R 7
(A) BAAEZRTHEN  dNTAHSTFEGY T Afok e F @F4 > #AHE
B) ZRANEFTRBOREFRNTORBRRERH
(C) B BARFENE A 184 B H LRy 46
D) £R N EFAHFRSOERLRFE B AR EAY
5. X EMARPUBREENFEH Y - £ THUmERE g/2 TR @qﬁé’] R A
(A) 1/4 mg
(B) 1/2 mg
(C) 173 mg -
(D) 3/2 mg
26 EHIEGEHERT  —RACD D WIS AR 2 ey B B0 5 - A 47U 84 S TR A A SR,
NS E I3 L RIB& e85
(A6 E R
(B) 8 ELE %
ON22 5B K%
D) & ik £ 5 B Ltk
T.ARERABRNE R LA BRER
(A) £LmR %
(B) &% RE
(C) #HRE
(D) AAEA
BARIBHEE > THAMNBRETHN - EF ~ FF2RBRYRBIEF 5 L7
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A) EF - FF - RFH
B) ¥+F--EF- -EBEFf#&
O EF-RTH~FF
D) BF#%~+F-EF
K7 MBBEAGHEERSR?
(A ERAfEHlzEE
(B) #F B8 /1 $1E &)y 2 KON BLE s
©C) BEBAX N EEOLEETHH
(D) JABRENAEBEARELL
30.U—R ERELBGERE B2 EEAAIT.6030% - MIBRZE IES
(A) &R
B) 2
(C) 2%
(D). »%
3T RIA RS S BT R ?
(A) THAEXHESH M AEE
(B) EHAARAGHERR  THEARABRES L
C) THARMFTRAZJoWATHE E XH
D) FHAEER - AE®E - AR T HHHEHR
. EEMERARED AT AHERBBTIBE T i ZILAFIH KT B0 > BHEES
20448 - M B/ WBEBET?
(A)2.4 m/sec’
(B)2.0 m/sec’
(© 1.6 m/sec
(D)0.8 m/sec’
BT RRGETERRT?
(A) & R wgG
(B) B ER ey Ko Baiigibey ik £ 4 B
©C) G RABAFRGELLABRETH
D) s BABARHLERETR
BAEERGEATES f=’ AV r B okg-mfs’ » BEvEM G m/s » AR c ) Blw 27
(A kg
(B)m
O kg'm
(D) kg/m
[.EHBNREEIAERE AR
(A) Timehuia &
(B) & otk B
(C) EMALERE
(D) TaER A

=
L
o



UEHERAERTHRBNBARTAER BB B EABEMER?
(A) DCV#%
(B) Q4%
(C) ACV#E
(D) DCuA#%
37.T U F M #9405 » AT H Bk
(A) RlE G K EZ MG AT
(B Fik th4h & # & #da 4t
C) BA—HEZENHYE
(D) R ERATHE > AL EEME
BTHEMBEERHEH I lTEBB?
(A) BE ' $ %9
(B) BABE B
C) a8 ¥: £F
(D) k@ E A
3951 mi (L) F71.6 km> —dah £ REROS LEAGHE - B ET/7580 mi - B Hsr
B iR B B AT?
(A)20.2 m/s
(B)35.6 m/s
(C) 45.4 m/s
(D) 53.6 m/s
40. T @ F M & 40408 » 75 R Bk ?
(A) EREHTHRERAHEE
(B) THEEREF
C) REFTHTUEAERHF YR
(D) FHALBLRERNAAAE AR RAEDASNBERD
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XS AN ¥ P EE P ERS E ey
B s HREH A+ S

g |7 AHERUMHEE  FREPEAREEFLER (KE) FAFRTHH o
b [T EEFRABAEGE AEFE LARERLTELHALBR > BAFFHS -
g EARBHELE REERETHEA-
g |BAREEMASRF—smE  EERTHH -

EcFRMA S A A BEBRT o FRRE IS

R (BREM 2408 BH2S 5 BERER)

L F SR — B K 42 B A& A (column chromatography)o% =T F sk 18 #¢/5) % B & % 9

(A) 540 nm (B) 340 nm _ (C) 280 nm (D) 260 nm
2. FEHE S B AT ERATIRE %R B0 & T HIAE—187
(A) RE R (B) 7 #
©) »& : (D) B4 HH#REE
3. R &% (melanin)R oy 7 — 18 8 K 8 o7 47 & M 12 '
(A) & 2 8 (tryptophan) (B) ¥ 51 # B (methionine)
(C) B & B(tyrosine) (D) # £ #(serine)
4. T FIA 18 7 #aFo Bs By 8 (unsaturated fatty acid)/b ¥ 54 48 fis B 8 (essential fatty acid)
(A) palmitoleic acid (B) oleic acid
(C) nervonic acid (D) arachidonic acid
5 BREEYERGMEEE  BANSES B P —8?
(A) &1t R # % (oxidoreductase) (B) #4458 % (transferase)
(C) 7 fg# % (hydrolase) (D) #A%#: % (lyase)
6. AFATALAE PN P R R34 M (intermediate) & 4 gi(biosynthesis) ey £ 2 & £ % {87
(A).1048 (B) 2048
©) 1248 D) 848
7. ABMARARRRHNEZEHRTIHF—M@
(A) A8 (uric acid) (B) A% (urea)
(C) #(ammonium) ' (D) =% 1bs(CO2)
8. vitamin 22 A F BB BRI G T AA—EER?
{A) Vit A : bone diminerlization - (B) Vit Bl : beriberi _
(C) folic acid - 1nega10blasﬁc anemia - (D) Vit K : hemorrhagic disease
0. FHIA-EAART UL P EE G Y 5 dodopa, epinephrine?
(A) tryptophan (B) tyrosine
(C) arginine (D) glutamate

10.—peptide /%] % Gly-Ala-His-Lys- Ala-Asp-Phe-Arg-His-Len-Val-Asn-Lys 4& trypsin IEITE ALK
18 K &2 | |
(A) 148 (B) 248
. ()31 (D) 448
11.SDS-PAGE &% B A F 718 — 18 & 1L 4545 19
£1H



(A) m# &k &g RN (B) pHBCEEH

(C) ##HDNAK - (D) %# DNA Ftranscription
12 4DNAS N fL 48 ¥ 4 A T F A0 — B8 5 2 ik A% B #97

(A) micelles (B) liposomes

(C) lipid bilayer (D) lipid emulsions
13. £ Z 0% 4 85 F ¢ E [ BE(cholesterol )1 E X 2 AT AR S ls B @ R T A A — 87

(A) VLDL | (B) LDL |

(C) chylomicrons ' (DY HDL
14. £ TCA cycle ¥ » F 3] f — 4@ vitamin it R £ 1 3 #9?

(A) riboflavin (Vit B2) (B) niacin (i dk )

(C) thiamin (Vit B1) (D) ascorbic acid (Vit C)

15.F 24 B8 5 2 Mk AT 5 B E 47
(A) BETUREGREZFHFH
(B) MEREREESZRE
(C) BT 24 18R B 2 78 4L s (activation energy)
(D) # 3tz B FAEpHA S AA EH
164 7+ B (bile acid) = F ey ohas 2 |
(A) # RRHDL &y4% & (core) 3t 44 4a it B & FR A% ] % (cholesterol)
(B) # A VLDL &4 & % 24 38 b5 BE B 8% 69 48 % _
(C) #4tcholesteryl ester A& rE z;’t%@:ﬁ‘ii(precursor carbons)
(D) # Bh# 3 Ak(emulsification)& 4 ¥ & A5 & (lipid)
17.7F 3 81— 5 4 46 K e #AHL £ AL Bl Antioxidant)?
(A) #RwA
(B) #4aC
(C) #44E
(D) #44K
18. ATP 14 42 o A — 18 8¢ R 4 167 s cAMP?
(A) BR% % 2% IR K (adenylyl cyclase)
(B) #f#k B &% # (phosphiatase)
(C) #i# — fs B8 (phosphodiesterase)
(D) =iAs 4 85C (phospholipase C)
19.7F 214 B B 6 R A RGEAT 4387
(A) BB AR
(B) C-BLRR(C-peptide)tnip e 4 Z A K5 i B &
(C) ftmBe/ § @H 4 AL R 548 Aproinsulin
(D) C-#k Bk (C-peptide) T 4E % P IR LA & % (endogenous insulin)if 7 &) 45 4%
20.7F FIT% R4 S 1675 B 545 ) 0 R 4812 3% % (secondary messenger)?
(A) cAMP
(B) cGMP
(C) Inositol triphosphate

o



(D) Arachidonic acid
21 FRMTER & & h ik ) 8 487
(A) B 'H & (cortisol)
 (B) ¥ _kKB& #(epinephrine)
(C) £%¥p-%(somatostatin)
(D) A & # % (growth hormone)
22. AAuHiE: b4k B (oxidative phosphorylauon) P g A AR AL 35 69 % T B4
(A) ATP &y & A,
(B) Glucose# #; & 1t
(C) NADH#& 4
(D) Pyruvatefl & g%, ‘
23.°F %4 B4 B A2 L5 1B (anaerobic glycolysis)z 4 475 E#7
(A) 7 ERB(pyruvate)4& by L8L B (lactase)#% 3% i 7L 84 (lactate)
(B) #3845 A 1 mol glucose # 4 2 mol ATP
(C) % % 7] 4¢ B & 7 (ketoacidosis)
(D) BULE%R
24.F #14 B S F 1§ 28 48 (clectron transport chain)ag £ 347 & 4327
(A) H ¥4 B (mitochondria)it 47
(B) £EF &% AHNADH#FADH,
(C) EERAA BT hfn s A8 (mitochondrial matrix)#% % 3€ % 2 B M (intermembrane space)
D) £ H%—BRELSFALEEBRAST
25. B tm e ZmRNAKR & &8 TF #| 3 — B 461E R
(A) capping
(B) poly(A) tail
(C) splicing
D) RELEFEE
26. 3 47cDNA # 7 (cloning) & » 4 A} & % FR %] Bi(restriction enzymes) Rk 174 # (vector)th X & B ¢4 2477
(A ATHREEHE
(B) % H A28 B Bk (self ligation)
©C) Byeeds
D) FH/E
27.F %1 & MIDNA$E & (fingerprinting) 2 44 347 & K £ 29
(A) TEX G
(B) BAHEMEN
(C) £ AR % 14 (gene polymorphism)4% + 44 & A
(D) EZAmRNA# &R
28. # 4 % (Vitamin D)t i3 /L7 75 — Bk 3 2479
(A) FFH&
B) FH#
€ B
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D) 85
29 BB ERENERAET AL
(A)hE AL B% (creatine-phosphate)
(B) AMP
(C) ATP
(D) ADP
30. AR HE RS BEAR S Ao % o s o HR — 28 R 45 & 38 Ao ?
(A) BERB;
(B) m9a
C) ek
(D) BEE B2 _
31. & 7 Bk % k(Southem blotting) ¥ FJ R {8 8] F 547 ?
(A) DNA
(B) RNA
(C) Protein
(D) Sugar
32 TR AAS AL T A ER?
 (A) Cys
(B) Pro
(C) His
(D) Tyr
33. T A B A B AR ) Bl AT A g 9
(A) &L-hexose
(B) B #+ 87 #%(ketose)
(C) L RM S T —{B3% %+ (chiral center)
(D) ERBERFTRELABHBAEL
34. %7 % 5% He(Neonatal jaundice), 35 &3 2 BFB ¥ 1746 3 548 2 7
(A) UDP-glucouse dehydrogenase
(B) UDP-glucuronosyl-transferase
(C) UDP-glucose
(D) bilirubin |
35. (RNA #2884 4 o)  (acceptor stem) K &9 5 51 & T 5] 5 — 4&2
(A) CAC
(B) CAA
(C) AAC
(D) CCA
36. F A —HA MDNA Béfeh sk T80
(A) DNA$$ 4% 32 5 g2 § F-(promoter) 2 5 %165 I
(B) DNAS #% & B 4 1k J 85 0k 5535 3 B
(C)DNA# & & F # 1k JARNA = g i 4 5

£48 - S




(D) DNA & 4% #1 % #i 42 &) -F(promoter) = F #1884 B F(transcription factor)4 44 #
37. T # I —18 Ik & ¥4k B F(transcription factor) RDNA & 4 #domain (4% B 3p432) ?
(A) Zn finger '
(B) helix turn helix
(C) helix loop helix
(D) lysine zipper -
38. Ribozyme&{fTH#E4E?
(A) RNA |
(B) glycoprotein
(C) DNA
(D) phospholipids
39, F 54 B #2244 #5464k F (post-translational modification)fa % R F. 2?2
(A) #zi42(disulfide bond) T 443 H G HHMHBE
(B) proinsulin #& 1% & & 556517 %) 4 & & Linsulin
(C) @itttk A (phophorylation)it R AR & & &G & 6475 1%
(D) A% EE$ &N E(folding)
40. F 1A Mlenhancer 2 453 » {74 EE?
(A) E ST ey B 2 P ey 2E Ak A A Tkbut iy
(B) fLAAEIE A AR Aot E) —4DNA
(C) #A—protein
(D) — & frytpromotersy b %

ﬁSE



8

AFHRBEET LBE AL EHARCL A AR LSRR
- & 305 1]

PN s

o8 e B

2 ARBEE > RRRA G M - ‘
m o ARAEMA SR M EERToA

O ARARECHEL  AEBREAREEFLER (KB SAKRFHS -
= BRFRABHEFS  RHSH - SRS EALTOZMALER  FHAFHS -

EABAE T A wHGY BIBEF O BERERHR -

B (BB #4008 5H 25 5 L8 F )

— O FRER FRUBMEEZTHREBENLE -

1.

Prices in the hotel are
(A) moderate

(B) broad

(C) excessive

(D) bitter

The magazine is __once a month.
{A) bought

(B) sold

(C) shown

(D) published

not high at all. -

. The man was killed by a wolf.

(A) fierce -
(B) bitter
(C) stubborn
(D) nervous

. She went into the church and down to pray.

(A) melt
(B) piled
(C) knelt
(D) spilt

. He has large of money.

(A) spending
(B) resort
(C) amount
(D) peak

. The little girl was frightened by the dog.

(A) beautiful
(B) horrible
(C) cute

(D) weak
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7. She ate too much and became
(A) smart
(B) fat
(C) rude
(D) stiff _
8. Aboy who is filled with __ always works hard.
(A) vapor | '
(B) remedy
(C) symptom
(D) ambition
9. We will yvou when the books arrive.
(A) please
(B) reveal
{C) notify
(D) guess
10. The city the road to the next town.
(A) enforced
(B) chased
(C) spared
(D) extended

S SURRE HREEEERRREMNEE -
11. Is he going to mail his letter?
{A) No, he not.
(B) No, he doesn’t.
(C) No, he isn’t.
(D) No, he isn’t going,
12. There’s a Chinese restaurant my house.
(A) near
(B) on
(C) down
(Djat
13. Where can | a cup of coffee?
(A) bought
@) buy
(C) to buy
(D) buying
14 He here since 1992.
(A) lived
(B) had lived
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. (C)has lived

(D) is living

15. 1 on July 7%, 1978.
(A) were born
(B) am born
(C) was born
(D) will be bom

16. any cheap hotels near here?
(A) There is
(B) Is there
(C) There are
(D) Are there

17. This is my credit, ?
(A)isn’tit
(B) aren’t they
{C) is this
(D) isn’t this

18. Tamused to ' a cup of coffee every morming,
(A) have '
(B) having
(C) had
(D) be having

19. How money do you have?
(A) many
(B) few
C)a
(D) much

20. Listen! Someone at the door.
(A) was knocking
(B) is knocking
(C) knocks
(D) knocked

S FHEE BREAETELRETHEER -
21, A:What she like?
B: She’s cooll
(A) does
(B)is
(C) look
(D) looks
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22. A: Thanks!
B:
(A) You’re welcome.,
(B) Sorry.
(CyI give up.
(D) It must be a joke.
23. A: Hello, may I talk to Mr. Smith?
B:
{A) Please connect me to Mr. Smith.
(B) Yes, speaking.
(C) 'l be back at 3:00 p.m.
(D) Do you want to pick him up to our office?
24. A:How can I get there?
B: You can go on
(A) bus
(B) car
(C) foot
(D) train
25 A
B: There’s a bank at the corner of the street.
(A) Excuse me. Where can I buy dictionaries?
(B) Where is the money? o
(C) Excuse me. Where can I change money?

(D) Would you give me some money?
26. A: Where’s the Brandenburg Gate?
B:
(A) Sure.
{B) You can take the subway.
(C) No more.
(D) I think it’s in Berlin.
27. A: How are you?
B: '
(A) Have a nice time.
(B) It’s too hot.
(C) I live in Taipei.
(D) Fine, thank you.
28, A: Which dress do you like?
B: '
(A) The blue one.
(B) The blues,
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(C) The blue ones.
_(Ij) The ones.
29. A: Do you know Christine?
B:_. |
(A) Yes. Who?
(B) No. We are friends.
{C) Yes, she does.
(D) No: Who is she?
30. A: Guess what, I'm going to New Zealand tomorrow!
B!
(A) The sooner the better.
(B) Really? That’s great!
(C) Sure.
(D) It’s a sad story.

W BWASC FREEEEHREEHEE -

Questions 31-35 . _

My formula for staying young is simple: Concentrate on the part of you that’s young and
growing~your brain. Keep your mind awake and you’ll stay young all over, These are e‘mnmg
times. Take an interest in the world around you, and make a point of learning at least one new
thing every day. '

Regardless of your age, it’s not too late to make your life more interesting. I know a
housewife with 1o previous knowledge who made herself into an outstanding industrial
designer; I know a retired electrical engineer who has become a highly paid ceramic artist,

Get over the notion that you are ever 100 old to go back to school. I know a man who entered
medical college at 70. He got his degree with honors and became an eminent physician. Another
man went to law school at 71 and is now an active lawyer,

In spite of years, staying young is easy for those who live in the future. You can do it if you
care enough to try. Keep your mind awake and active; that’s the only youth elixir guaranteed to
work.

31. The statement that our brain remains young and growing regardless of age is
(A) an mmpossibility
(B) a scientific fact
(C) a supposition
(D) a ridiculous conclusion
32. Itis wrong to
(A) think oneself too old to return to school

(B) keep one’s mind awake

(C) try to stay young
(D) get one’s degree with honors
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33. The selection states that a man who entered college at 70 became
(A) an active lawyer '
(B) an electric engineer
(C) a distinguished doctor
(D) a highly paid ceramic artist
34. The only youth elixir is to
(A) go back to school
(B) disregard one’s age
(C) live in the future
(D) keep one’s mind awake and active
35. According to the author, you should learning at least one new thing every day.
(A) put up with
(B) be skillful in
(C) give up
(D) lay stress on

Questions 36-40

San Francisco is one of the most beautiful and unusual cities in the world, and it attracts a lot
of tourists, both Americans and foreigners, all year round. This fascinating town at the tip of the
California peninsula is the western gateway of America. Historians call it “the city of the Golden
Gate.” Lovers call it “The city by the bay.” Those who don’t live there call it “Frisco.” About one
million people call it home. It was not until 1849 when the gold rush started in California that the
town really began to grow. In fact, a year later, it became an incorporated city. The goid rush
turned San Francisco into a boom town and established the basis for the city’s later development
into a major financial and cultural complex of America.

36. Without the gold rush, San Francisco would probably
(A) never have existed
(B) be able to attract more tourists today
{C)not have i)rospered as it did
(D) have become the capital of the United States
37. Tourists visit “the city of the Golden Gate” in
(A) spring
(B) summer
(C) autumn
(D) every season of the year
38. San Francisco has a population of about
(A) one and a half million
(B) one million
(C) two million
(D) fifty hundred thousand
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39. “The western gateway of America” refers to
(A) San Francisco
(B) Los Angeles
(C) California
(D) Seattle .
40, San Francisco became an incorporated city in
(A)1850
(B) 1849
(C) 1847
(D) 1851
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